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Abstract: This contribution proposes a use case, Incident Commander – realtime group,  for Group Communications System Enablers for LTE. From the SA1#59 meeting there were questions on whether group communications were at the application layer and therefore the 3GPP network is strictly a “transport network” or was there something that needed 3GPP to be more than a “transport network”.   There is at least one example of the first case.  However given this first example, it does not mean that another solution is not necessary to achieve user performance expectations / requirements. 

Expected Benefit/Effect: The benefit of adding enhancements within the 3GPP network to provide hooks other than just using 3GPP as “transport network” will enhance the performance and operations of group communications.
Proposal

A.
Incident Commander - realtime group

A.1 
Description

This use case describes the scenario where a given UE (incident commander) wants to establish a group based on the incident in “real time.” And then to use the newly established group for group communications with all members of the group at the local incident.

A.2 
Pre-conditions

All entities are connected to the network.

A group (X) has been created of which the incident commander (IC) is a part.  

Officer A (Officer A’s UE) is listed in the group (X). 

Officer B, Officer C, Officer, D, and Officer E are not members of the group (X) but are local to the occurring incident.

A.3 
Service flows

IC and Officer A’s are already joined to the group (X) and are communicating.

The IC’s UE requests local responders’ UEs to identify themselves.

The IC creates a new group (Y) on his UE and includes the original group (X), as well as adding the other officers including Officer A that have responded to the incident. 

The IC’s UE then announces the group (Y) locally.

Officer B, C, D and E receive the announcement of the group (Y) and join the newly formed group.

The IC then begins sending data to the group (Y) and group (X). 

Officer A receives two copies of the data one from group (X) and one from group (Y)

The IC may decide to instead of sending the same message twice to both groups Y and X may decide that one is sufficient.

A.4 
Post-conditions

When incident is over Group (Y) no longer exists in the IC’s UE.

Group (X) exist without change.

A.5 
Requirements
The network must be able to determine “locality” of devices and provide that information to others.  

A UE must be able to establish and maintain a group and its related communication.

A UE must be able to belong to more than one group and actively participate in multiple groups.

A UE must be able to control the local resources so that to the extent possible as few of resources are allocated. 

A group must be able to be defined using multiple types of elements (e.g., UE, group, network element)
